pOsL:

www.posu-pneumatic.com

8H Speed Controller

feaRy
Elbow

8 s o

B T MAK, MIN
PSB[14-M3-NI 3 |M3X05| 7 | 287|261 | 249 | 172 | 9 8 1
PSB[_|4-M5-NI 3.5 |M5X08 | 7.5 | 291|268 249 | 172 | 9 82 1
PSB[_|4-01-NI 4 g | 58 | PT1B | 12 | 364|317 282 | 206 | 106 [ 202 | 18
PSB[_J4-01-NI-5 74 | PTUB | 7 |352|324| 286 | 17.2 | 127 | 12.8 1
PSB| 14-02-NI 85 | PT1/4 | 17 | 291|268 | 344 | 222 | 124 | 37 25
PSB[14-03-NI 101 | PT3/8 | 19 | 359|313 407 [ 2441 | 151 | 622 | 25
PSB[16-M3-NI 3 |MsX05| 7 | 287|261 | 249 | 172 | 9 9 1
PSB[_16-M5-NI 35 |M5X08 | 75 | 352|324 | 249 | 184 | 9 19 1
PSB[16-01-NI 58 | PTI/8 | 12 | 364 |31.7| 282 | 208 | 118 | 195 [ 19
-L-] PSB[16-01-NI-S E W S Prie | 7 |352| 324 286 | 184 | 127 | 21 1
PSB[16-02-NI 85 | PT1/4 | 17 | 352|324 344 | 222 | 127 | 356 3
PSB[16-03-NI 101 | PT3/8 | 19 | 41.2| 365 | 40.7 | 24.8 | 14.7 | 60.4 4
s PSB[/8-01-NI 58 | PT1/8 | 12 | 468 | 426| 288 | 254 | 109 | 218 | 19
PSBL18-02-NI 8 | 135 | B8 | PTV4 | 17 | 412|365 | 344 | 274 | 122 | 384 3
alo M PSBL18-03-NI 10 | PTa/8 | 19 | 468|426 | 408 | 303 | 152 | 632 | 4
S @IIE' Im' PSB[_8-04-NI 13.9 | PT1/2 | 24 | 588|517 | 475 | 365 | 181 | 108 6
i _vadan |6 PSB[_|10-02-NI 85 | PT14 | 17 |47.7| 432 | 345 | 31.7 | 124 | 422 3
< PSB[]10-03-NI 10 |16.7 [ 10.1 | PT3/8 | 19 | 58.8| 51.7 | 40.6 | 32.1 | 15.1 | 65.8 4
" L PSB[]10-04-NI 142 | PT1/2 | 24 |415| 365 | 475 [ 335 | 181 | 111 | 55
@cﬁ PSB[]12-03-NI 12 | 106 101 | PT3/8 | 19 |487| 433|407 | 339 | 148 | 708 4
Metric thread type PSB[_12-04-NI C | 139 | PTI/2 | 24 | 58.8|51.7 | 476 | 365 | 188 | 1154 | 55
B
m 2 5R RU(E)
Elbow (lvory)
2ee.,......
o s W FE MAX MIN | AmilE
PSB []4-M3-NI-W 3 |Maxos| 7 |287|281| 249 [172 | 9 8 1
PSB [ |4-M5-NI-W 35 |M5x08 | 7.5 [ 291|268 | 249 [172 | o B2 1
PSBL4-01-NIFW 4 g | 58 | PTUB | 12 | 364|317 282 | 206 | 106 | 202 | 19
PSBL4-01-NFW-5 74 | PTUB | 7 |352|324| 286 | 17.2 | 127 | 128 1
PSB [ 14-02-NI\W 85 | PT1/4 | 17 | 291|268 | 344 | 222 | 124 | a7 2.5
PSB[4-03-NI\W 101 | PT3/8 | 19 | 358|313 | 407 | 241 | 151 | 622 | 25
E1 PSB[6-M3-NI-W 3 |MsXo5| 7 |287|261| 249|172 | 9 9 1
S PSB[]6-M5-NI-W 35 |M5X08 | 7.5 | 352|324 | 249 | 184 | 9 19 1
PSB[16-01-NI-W . o |58 | PTWB | 12 364|317 282 | 206 | 118 | 185 | 19
PSB[ 6-01-NI-\WS 74 | PTU/8 | 7 |352| 324 286|184 [ 127 | 21 1
e 2l el PSB[ ]6-02-NI-W 85 | PT1/4 | 17 | 352 31.7| 344 | 222 | 127 | 356 3
PSB[ ]6-03-NI-W 101 | PT3/8 | 19 | 41.2| 36,5 | 40.7 | 24.8 | 14.7 | 60.4 4
o DE_ ﬁ s - PSB[ 8-01-NI-W 58 | PT1/8 | 12 | 468 | 426| 288 | 254 | 1008 | 218 | 19
9 @ | PSB[ 18-02-NI-W 85 | PTI/4 | 17 | 412|365 344 | 274 | 122 | 384 3
T vaian | ———— —— 1 8 |138
PSB[ |8-03-NI-W 10 | PT38 | 19 | 46.8| 426 | 408 | 303 | 152 | 63z 4
< i PSB []8-04-NIW 13.9 | PT1/2 | 24 | 588|517 | 475 | 365 | 18.1 | 108 6
Eﬁ R PSBL110-02-NIW 85 | PTI/4 | 17 | 47.7| 432 345 | 31.7 | 124 | 422 3
< PSBL110-03-Nkw | 10 | 167 | 101 | PT3/8 | 19 | 58.8 | 51.7 | 406 | 321 | 151 | 658 4
Metric thread type PSB110-04-NILW 142 | PT1/2 | 24 |415|365| 475 [ 335 | 181 | 111 | 55
e PSB]12-03-NIW 10.1 | PT3/8 | 19 | 48.7| 43.3 | 407 | 33.9 | 14.8 | 70.8 4
PSB]12-04-NLW 21196 mse [Pz | 28 58.8| 517 | 476 | 365 | 188 |1154 | 55
D NI EBIRRE NI:Release Ring (Metallic Body)

SRR S:Mini Type




